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cor_asym_us_avg (ppb)
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cor_usr

X2/ ndf

p0

81.34/112
3.127e-07 + 1.307e-07
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1D pull distribution

Mean 0.01554 + 0.0798
Std Dev  0.8483 + 0.05643
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Overflow

X2/ ndf 5.108/6
Constant 25.47 £ 3.15
Mean 0.0189 + 0.0960
Sigma 0.9109 + 0.0756

|III|III| III|III
-2 0 2 4 6 8




MS

x

0.148

0.146

0.144

0.142

0.14

0.138

0.136

0.134

0.132

0.13

cor_usr RMS

_6
x10
— [ ]
| [ ]
— [ ]
— [ ] °
- ()
()
— e
—e ° [
> e, . o .
[ ] [ ]
— (Y ® . ° ° L4 ° ° . °
e % ... o0 ® ° % o00 °
o © o ¢ o % ° ° L]
— ° ° (L ° 0e® ® e © oo,
oo ° e o ° o ® e o °
- () [ ] o L] ..
| [ ] o® ° )
[ ] Y [}

— o ¢
- ° °
Saoc0 N N S PEL 0207 22 02 3252 SO S roococed_OIo0000000_ G

XK XAXXXAXXFLAXKXAXAXO
(XOXXXX A XXX AKX A X AKX ALK XXX A AT XXX XX XX OLXEX. X X AXAXX AKX X HHAXXX XXX AXXXAXOX AKX A A AK AKX L XXX AXD
1S S AP S5 5 G (5 5 SO A 03P 3P S 1 S s LR e TR RS e 0K «xWWMW;A;mm«xu;“ﬂngWVWWW




cor_usl
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cor_asym_us_dd (ppb)
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RMS (ppm)

cor_asym_us_dd RMS (ppm)
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